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T= 2010 2011 2012 2013 2014
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2 2t 194 572 140 449| 278 214
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2014 | 1,115 5 gaiC| 43 35 11




4. ¥ TOIU3 &%= s=lHEs NS
zZ5 HS CODE TE(XH=2) ZME (1=2MIE)
1 oz 2202909000 488 8%
2 oho 1902301010 449 5%
N ERT-UN;
3 . - . | 1209915000 254 0%
(*EOLE BX 7|F)
4 alES 2203000000 167 30%
5 DEXHE 1904109000 7 5.4%
6 A= 2208904000 4 30%
7 7| 1704902090 3 8%
30%
8 pS[ELLES 2206001090 2 SR BN 15%
9 o] FS 2206002020 1 30%
T =M = 2A 15%
10 LH IH 1902193000 0 5%
% = MSS BMAE ZHI|FoR AMEQON HEX mMelo| ooz ADAlEozR &85t
AlD, Bl ME3 22 BME, To[UFIEE= MY S8 S =l
% o BMESEAC HS CODE:= HE £ZZ2S 7|Z02 =MM3H Zi0|0{, 5 Z2o| MEA}
stz AR Ao HS CODEZ} H2te 4 U=
% 2 XRE J|2ME8S JIXE Ao 2H T M| (U5 M) ER{TMM Tl Ustoz
ENZ £= ZH 7|7 xoF e MMM 5SS Miisto] J|2M 82 10082 502 e
Lol A ZHME 2t55H= e 2o
b. ==%H OHZEArE
O (F¢H) v} 55 2 Z AoVl Y= Y HeZ
O (F9R3T) 7[ISFAF 7IYe] B2 Tryztasls 7|y 874 54
A ABAR] ALXET 7] WE FEEHEFDRFREY 9 7}
Aol oAH =
o (F=AHR) 3+-F, S-EU & & =770l vl AR7} B35t
AY, 54 ATl AR HEFE A|ZAZAF DB B




